COPYRIGHT RESERVED MLIS(Sem-l) — Know.
Inf. & Commu. (101)

2023

Time : 3 hours
Full Marks .75
" Pass Marks : 30

Candidates are required to give their answers in
their own words as far as practicable.

giemeff gy 39 Wil 4 & IS |
The figures in the margin indicate full marks.
391 & 3% Qs % S § |
Answer from all the Groups as directed.
femTar a4t @vel @ WS |
Grdup -A
g - A
(Objective Type Questions)

(aegfs w)

1. Choose the correct answer from the given
alternatives : 2x10 =20

(@) The word ‘Communication’ derived from :
(i) Greek
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(i) German
(iii) French
(iv) Latin

(®) In Communication anything that lnterferes

With a message is known as :

) Noise
(i) Context
(iii) Decoding
(iv) Feedback
(¢) Who has coined the term ‘Information
Society’ from the following :
() B.C.Bookers
(i) Fritz Machlup
(iii) B. C. Vickery
(iv), N. J. Belkin

(d) Who wrote the book The Information
Society’ ?

(i), FritzMachlup
(i) William J. Martin
(i) N. J. Belkin

(v) B.C. Vickery
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ctual Property Right (IPR) protect the

(e) Intelle
as that are of .

user of information and ide
(). Ethical value
(ii) Moral value’
(iii) Social value

(iv) Commercial value

() The last component of information

communication model is :
() Sender

(i) Message

(iii) Noise

(i\f) Recei\)er

) The Intellectual Property Right (IPR) in India

(9
covers :

(i) Patents
(ii) Copyrights'
(iii) Trademarks
(iv) All of these
(h) Collection of information is done in :

(i) Libraries
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(ii) Documentation Centre
(iii) Information Centre
(iv) Allof these
(i) Who is the propounder of the term
‘Information Transfer’ ?
() Ranganathan
(i) J. Martin
(iii) Calvin Moores
(iv) Beesman

() When did Shannon and Weaver put forth the
- mathematical models of communication ?

(i) 1938

(i) 1942

(iii) 1945

Aiv) 1949
Group -B
GUg -9

(Short-answer Type Questions)
(g -3 w¥)
2. Answer any five questions of the following :
5x5 =25
XB — 5/3 ’ (4) Contd.



Prrferfiae & @ foerdl ol ST & IWQ -
(@) Write a short note on Various Barrier in
" Communication of Information.

ge & gun § AR et arnatt @ feorft
ford |

(b) Explain various linear models of Information
Communications.

g wR ¥ Rift Yo wieet Y awg |

(c) Describe c_ompbnent of knowledge

v

management system.

T SEE SOTeht ¥ T Al o B

(d) Whatis data securityand why is itimportant ?

- 2o gean w0 R 3R T W TR R 7

(¢) Whatis the freedom of censorship ?
ey Y T e ?

() What are the different model of

representation of information ?

Wwﬁw%ﬁmww%?

(g) Explaintheroleofa librarian as a knowledge
" manager.

XB - 5/3 (5) (Tumover)



TH YavA $ dof ¥ U Ther! sramrh €y

s =t wE WK |
Group-C
g - |

(Long-answer Type Questions)
(< -3erig W)
3. Answer any three questions of the following :
10x3 = 30
frferfaa 7 @ foodl 7 ot & sw e
_{a) What do you understand by Communication
of Information ? Discuss its need.

T HEER ¥ T T & 7 D SRl
TR T BT |

jp)/Explain the different element of
communication process. Shannon-Weaver
Communication Model of Communication
Process.

gar gisrar & faftm o=t 6t fdsar fifdw |
TER YT &% AHA-deR 9K Aige 6 ==l
#t | |
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(c) Discuss the role of modern librarian as an
knowledge manager.
A TEUS & &Y § anyfre gEabearad £
yifet it ==t Hifvre |
(d) What do you understand by Intellectual
‘ Property Right ? Exp'ress various areas of
Intellectual Property Right.
mm#mé‘mm¢m% ?
A e SRR % I T & W
iR |
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Answer from all the Groups as directed.

Aéwar @t @vel @ W Q|

Group -A
s - A
(Objectivé Type Questions)
(aegfE W)
1. Choose the correct answer from the given
alternatives : 20

XB - 6/3 (Tum over)



frafefiaa et # @ o8 3w =1 = =i

(@) Who was the first scholar of the book
classification ?

I iffehtor & qoW faga =9 & 7

() Dewey (i) Bacon
< Lc I
(iii) Harris (iv) Ranganathan

(b) Dr. Ranganathan formulated how many
principles of facet sequence ?

Elo THIYA I Uge] ITHA & frae Rigia d9w

fou 7
& 4 - iy 5
(iii) 6 (iv) 10

~ (¢) Modes of formation of subjects is the part of
which process of the library ?

e & e wfhan % wmt f Rt % e
% e

(i) Accessioning

wfargw

XB -6/3 (2) ~ Contd.



gg—@mmwﬁ:

frfrfga Rsedt |
(a) Who was the first scholar of the book
classification ?
e iR & R fgA @A 9 7
() Dewey (u) Bacon
v S o
(i) Harris (iv) Ranganathan

(b) Dr. Ranganathan formulated how many

principles of facet sequence ?

aomm%meaw%ﬁm'mm
fer 7

&.4 (ii) 5

(i) 6 - (iv) 10

(c) Modes of formation of subjects is the part of
which process of the library ?

QAR ¥ g wftrar & wmt § fawat < weA
& alteh
(i) Accessioning

wfargu

| XB g (2) Contd.



(ii) Classification
e f
(iii) Cataloguing
gt

(iv) Documentation

TAGH
(d) In which year fhe first Edition of DDC was
published ? |
Al 1 TEen dew e TS SR g3 ?
(i) 1870 (i) 1875

Mzs (v) 1897

(e) Number of steps involved in POPSI indexing

are: _
It ST H A RO Y TS R
(i) Six (ii) Seven
9 | q1d
(iii) Eight (iv) Ten
\,/ 3113 =

() Which one is not pre-coordinate indexing
system ?

XB - 6/3 (3) (Turnover)



S - o e R T R 7

- _Aiy? Uniterm
e :
(i) ChainIndexing
I FTHARH
(iii) PRECIS
I
(iv) POPSI
qraEt

(g) Theterm information Retrieval was given by :

Rl Tmﬁh yiee fer M an .
_}j)/ Calvin Mooers

Hiea Wk g
(i) H.P.Luhn
o o GER T
(iii) MortimerTaube |
T g TR
(iv) DerekAustin
 str iR T



(h) C.A.Cutter is famous for :

o To HX IRIG g:
A Rules for dictionary

wod B A

(i) Subject classification
foawg it

(iii) PRECIS
|

(iv) SubjectCataloguing
ferwa =

() The indexing method deviced by Dr. S. R.

'Ranganathan theis called :
 qudet dofe feaTE Sio Wo 3o THIEA
hgl STIdl ?:
P (iyChain Procedure
st
(i) Dictionary Cataloging

G GEThTol
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(i) PRECIS
e

(iv) Subject Catalogue
fawg e

Group -B
g - ¥

(Short-answer Type Questions)
(W9 -IWT )
Answer any five questions of the following :
5%x5 = 25

frrferfaa o & fodl oie oAl % IW S
2. Whatdo you understand by an Indexing System ?
FFA TOCH @ AT HT AW § ?

3. What is objective of Abstract ?
AN H I IR 7

4. What is Uniterm Indexing ?
gfaed cefaun 7 R 7

A (6) Contd.



5. Explaiy
nRg
Beolean Operators with suitable
€xample, '

mmﬁmmmm|

7. Discussthe qualities of a .good abstracts. |
=D TR A
Group-C
T -
(Long-ansWer Type Questions)
(e -z 3 e)
Answer any three questions of the following :
10x3 = 30

Prferfaa § @ el i sl & WL
What is difference between POPSI and PRECIS

indexing ?
i v e AT § R E ¢

(7) (Tumover)
XB - 6/3



10.

1.

12.

XB - 6/3 (100) (8

Define universe of subjects and describe its

attributes.

fre ST Y whonfva e ge Fe! ferteard wand |

Discuss the functions of intermediary is

information search process.

T @ Wi § qeredl % wrt w1 9o R |

Define Citation Indexing. State the genesis and
types with examples.

3G FTgsHHOER St gt Hf | g e
T YR I I Higa T | |

Write short notes on the following :

fFrefefas w aftm feoafrf ford @

(a) ISSN

3“%0 THo WHo To
(b) Phase Relation
<o 9y

L)

L)

S
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Candidates are required to give their answers in
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Answer from both the Groups as directed.

Group ;A

1. Classify any five titles according to the Colon

Classification 6th edition : o9x§ = 25
(@) Design of Rail Road ‘P U(st\Y
(b) Generation of Heat €41

() Physical Geography L
I (W '
(d) Treatment of eye disease in old age LOE, 1’516

XB -7/4 (Turn over)



(e) Production of paper in paper industry
® Crminal Law - 2N 22165

(@ Classification work of University Library

(h) Astronomy of Sun
Group-B

2. Catalogue any five documents of the following :

Ix5= 25
(a) Indian Economics

2nd edition
by
Kumudini Sinha
- Janki Prakasthan

India, 1959

Other Information :
CallNo, X. 44 N 59
Acc No. 1050
Page IX + 450

Size 24 cm

XB 714 (2) Contd.



® History of British EmPpire
Edited by
A. Anderson
and
Andrew Foster
5th Revised edition
London Q
1985

Other information *
Call No. V56 N85
Page —219 ; 40 colour plates
Size — 27 cm
Acc. No. 38500
ISBNO—3-410-411

(c) Journal at
Institution of Mechanical Engineers
Vol. 20 March 1922 '
Published by
The Institution of Mechanical Engineers

Boring Road, Patna

XB —7/4 (3) (Tum over)



Other Information :

Frequency —Monthly

Size — 26 cm
Clain No. D6m 44. N74
Note : Library has a complete set of the Journal
(d) Principles of Economies
Theory, Problem and Practice,
by

Elbert Bowdon 1990

Oxford University Press

USA

Other Information :
Call No: 330.1 Bow
Acc No. : 7320
Page XX + 656
Size 21.5¢cm

ISBN 0 - 538 — 08960 — 1

XB~7/4 (4) Contd.



(e) Teaching of Library Science

by
Dr. Nandita Benerjee
Edition — 4
New Delhi;
Academic Press

1999

Other Information:
.CallNo. T:3(2) N99
Acc. No. 63200
Page IX, 352
Size 28x15cm

() Intemational Seriesin Nuélear physics no. XX
Dimension of Nuclear Physics
by |
Sir Waiter Scott
Published by Edward Stanford Limited
London

1981 i

XB-7/4 (5) (Turn over)



call No : €9B31 N 81
| Acc. No. : 238890

Page : IX, 405

Size : 22x19.1

0
D

XB - 7/4
(100)
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Candidates are required to give their answers in
their own words as far as practicable.

TG T 3 et F g g &
The figures in the margin indicate fuII marks.
ST % 3% [IIF % g § |
Answer from both the Sections as directed.
Feogar 29 @vst @ g9¢ g |/
Section - A
Qg - N
(Objective Type Questions)
(FRgfE W)
Choose the correct option from the following -

- 23%10 = 25

1.

XB ~8/3 ( Turn over)



frefafaa fasmedt & @ adt o =1 = =t
(@) Information is the part of :

(i) Information Science
(i) Subject
_ (i Knowledge
(iv) Communication
(b) Who are the largest users of Information ?
(i) Students
(i) Public
(i) Teachers
\(iy)/lf{eséart;h,es
(c) Whatis knowledge ?
(i) To gain Information
(i) Human writing
(i) Reading books
\@cf)/ Organised body of Information
(d) Whatis the unit of Information ?
(i) Heartz
(i) Gram
(ili) Byte
_AN) Bit

XB - 8/3 (2) Contd.



(e) Theterm NT used in the source refers to :
u(f)/ Martower term
(i) Used for

(ili) Broaderterm
(iv) Falseterm
() Who propounded spiral of scientific method ?
_(1~S. P. Ranganathan
(i) C.A.Cutter
(i) H.E.Bliss _
(iv) E.C. Richardson
(@) Theterm communication came from which
language ?
(i) Greek
[iiyLatin
(i) German
(iv) French
(h) Lotka's lawrelates to:
(i) Supposé
(iiy  Scientific Productivity

(iii) Obsolescence
(iv) Word frequency

XB - 8/3 | (3) ( Turn over)



(i) Usereducation means:
(i) Display of encyclopedia
(i) Sending email to the user
(iii) Educating the users all use of library
V(iv) None of these
() Copyrightis abranch of what ?
(i) Propertyact
(i) Property right
(iii) Patents law
(i) Intellectual property right
Section - B
Gug - ¥

(Long-answer Type Questions)

(el -3t W)

Answer any five questions of the following :
10x5 = 50

Fretferfiaa 3 & el o et 3 e 3 -
w4 Deﬂﬂe knowledge and explain is kinds.

XB-8/3 (4) Contd.



Define univers of knowledge and describe its

attributes.
TH ST I W&nﬁamgqsaﬁﬁﬁqﬂﬁw |

9. What do you mean by spiral of Scientific

—_—

Methods ? Explain in detail different stages of

- spiral of scientific method.
AT TR el & 379 F1 THIA § 2 F@eh! [
Jraeenait w1 faega qui HIT |
6. What are different methods of user survey ?
Explain in details.
SqeirTral @ % faftm als ®E 7 fereqa =
$ifora |

Turn over)
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7. What do you understand by user education ?

Discuss various methods of user education.

SwATRdl RIE @ 3119w guerd § 2 3uReal Rre
& fafte @t =1 aof7 Hifve |

8. Write short notes on any two of the following :
Fefelea & @ Rt w dfm Rogforat forRaw .
() Fission
fawrem
(i) Interview
HIEThHR
(iii) Mobile library
EISGRscacod
(iv) Lotka’s Law

et

e —

L 2

XB - 8/3 (100) (6) MLIS(Sem-I) — -

Uni. of Know, &
User Edir (1041
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Time : 3 hours
Full Marks : 75
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Candidates are required to give their answers in
their own words as far as practicable.
wiereff Femya 39 Wil F g WG |

The figures in the margin indicate full marks.
39Td & 37 Qs & Gah 8 |
Answer from all the Sections as directed.
feugar ot @vel @ IS |

Section — A |
G g - A
- (Objective Type Questions)

(aegfre W )

1. Choose the correct answer from the given
alternatives : 2x10=20

XB-9/3 (Tum over)



(b)

(©)

XB - 9/3 (2)

() EURONET

e
(i) OCLC |
3ito "o THo Hlo
(ii) INFLIBNET
R

(iv) None ofthese
i & % T
WWW services provide by :

‘maansﬁaoNMNMnﬁmnﬁcM%aﬁ@H%aﬁ
et R 7 |

() ENDONET (i) NICNET
(iii) INTERNET (iv) DELNET
E-mail address consist of :

- ‘T@Wl S d

() Through Electric
wafdg & g

Contd.



(ii) Through speed post
offs 9 & g
(iii) Through both
gHl & g
(iv) Computer and Modem
FPY T WIeH % g
(d) SOULisa
| O L
(i) Software (ii) Centre
Hieat 5
(iii) Institute (iv) Organization
(e) Operating System is a
FTRféT freem w 138
() Application Software
UfRTHIA AHRRR
(i) System Hardwaré
Rren grdam
(iii) System Software
fRrew wivear
(iv) Language
1an

XB - 9/3 (3) (Turn over)




() Which of the following software is useful for

Library ?
Aafiftgg § @ FH-T1 ARSI JEHT *
fore It @ 7
(i) LIBSYS (i) LIBGUARD
forafra foeme
(iii) MS-Word (iv) Tally
Wo Tho TS <&t
() The database defination is CDS/ISIS
consists of steps.
o Lo TWo /Ao THo HFo TWHo I IT@H
TRUTT o R =T & |
(i) Two - (i) Ten
(i) Four — (v) Five
<R ' ey
(h) Whatis UNIX ?
RGRu R
() Hardware
FEAW
(i) Software
XB - 9/3 (4)

Contd.



(i) Operating System
anaifén fRrew

(iv) High Level Language
TTé Aer wTw

() Which software was developed by UNESCO

0

for library ? .
BH-FT ATRAT LI G G & forg
fasfm R 2 2
(i) Sanjay
(i) Granthalaya
(iiiy CDS/SIS
"o o THo /3o THo g0 THo
(iv) None ofthese |
wani
In India University Library Network known
as .
wRa # favafaed geerd Feqes S e W
| I ST 7
(i) DELNET

e



(ii) CALIBNET
FHIferae
(iii) ERNET
AR
(iv) INFLIBNET
FRAE
~ Section—-B
| g - ¥
(Short-answer Type Questions)
(g -3 ¥)

Answer any five questions of the following :
5x5 =25

ﬁw%iiaﬁﬁéﬁaﬁqhsrﬁ%mi:
2. hatis Koha ?
aﬁaw%?

3, Descnbe the main type of Library Automation.

TeTer ETe % J60 YHRI &1 q0H W |

4. What do you understand by System Analysis and
| System Design ?

foreen vArerefir 3 R R & anw s www
&7

i (6) - Contd.



S.  Write the name of three Database Management
System Packages.

5l 7 e yevm Yomeh 3 & T Tad |

6 Describe the different types of Database
Management System.

ﬁﬁam%mwmﬁﬁ%ﬂmﬁl

7. Explain the impact of Information Technology on
- Library and Society. -
JEIHIeT UF T W g i & SrgyEi i
<4l |
Section-C
g -
(Long-answer Type Questions)
(g -3wrlta weA)
Answer any three questions of the following :
- 10%x3=30
frafaftga & @ el T st & sw d
8. Define CAS and the tools available for it in a
University Library.
"o wo udo H yftwifim & ot favafyenex
qeaehierd # 39 /g IJTeTed It i saret w |

XB - 9/3 (‘7 ) (Tum over)



9. Describe the application of SOUL Software
" Package in Library Work.
qeaeTe St ¥ R e A A% & Sy
T T R |

10. Describe the need and importance of Digital

~ Library. -
fsRrest TeahTerd it FETEHAT T qEA h T4l
K |

11. Whatis automation in the library and describe its

role?
T T R a e # e = e

12. Write an eSsay on use of Computer in Library

-

house keeping works.
e T8 F w3 e e %
v w e ford |
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